1.

A arad B can de a job alone in 12
days and 15 days respectively. A
sbarls the work and afber & days B
also joins to finish the work
WEE‘I’]’H!I’. F-r.!r I'Iﬂ'l:'l. ITIEIJ}' -L'Iﬂ}'! E
actually worked on the job ?

1 1
(A) 3% (B) 935

() 5% (D) 63

Twe pipes can fill a - cistern
separately in 24 minutes and 40
minutes respectively. A waste
pipe can dram off 30 Litres per
mimabe, If all the three pipes ane
opened, the dstern fills in o
hour. The capacity {in litres) of
thi cisterm is—

{A) B0 (B 400

i) e D) 500

A solid sphere of redius 1 cm is
medted fo comvert ink a wine of
length 1XF om. The redius of the
wire (using ¥3 = 1.732) is—
{A) 8 om  (B) 009 cm
{C} Fléem (I3 011 cm

A field is im the form of a
rrrr.:mg]r- of !r-n;;rh 1E m and
width 15 m. A pit, 75 m long, &
e begad amad 08 m deep, 55 dug
im & corner of the feld and the
aarth taken ot is evenly spread
over the romaining area of the
field. The level of the field raibed
I—

{A) 12cm
L .

(B 14 ¢m
¥ 15 cm

L ree) : o LA
Given = v , v3, w25 and 259,
the gresbost and least of them are
rc-s.'pn'ri'uﬁl}' oo

12 ___ ]
(Al Y2859 and ¥4
(B} v3and vd
(C} Y55 and ¥3

. [
(M w4 and «25

11

Thee last diggit, that is, the digit in
the unit's place of the number
[(570%5 - 1] in—

(Al B (B) &

(Ch 0 (0¥ 5

The =um of five conscscobve

integers is @ and the sum of next
five conseccubve inh*;;c'n; i= h

ﬂmn%liﬁeqml by —

(Al 3 (B) 5
wr 4 (L 2

s 5 SO |- G
WE- V3 VE-vE VBT
(Al 1 {B) —3
(% ] (M A —y

A number Mois a positive thees-
digit number. If © is in its
hundred's Ptﬂl.".'! amd i b i it
umil’s F]zm:, then the number
M - 10x - g is always divisible

I::,.'—
Al B iB) 9
k10 (11

. A dizscount of 4099 on thee marked

price of a trouser enables Ajit o
IHJ!'E}!H:H"' a shirt absg which ocoehs
him © 220, How much did Ajit
pay for the trooser ?

[A) T 48] (B T 540

(Ch T oA (0¥ T 400

The ratio of alcoho] and water in
400 Dibres oof mixbare (5523 8 litres
of the mixture 5 pemoved and
replaced with water. How, the
ratio of the aleohol and water in
thie resulbant mixtore is—

(A 1:2 {Bi1-1

wch 201 (2 1:3
FEama's ﬂ'u'prnd'ih.lrn and :-'aw:irlgs-:
are in the ratio 32 2 His income
increases by 10 per cent, His
rﬁ:pmdintr{' also increases h].'
124%. His savings increases by—
(Al 7 (B 107

L I

LA,

14.

15

15,

Ten years ago, the average age of
P and (} was 20 years. Average
age of P, O and K is 30 years
novwe. Adber 10 YEArs, the age of K
will be—

I:.-’L:I a5 years (B} -1-'!!':(\11111-:

{C} Mryears (DM 45 years

Thc:.am*ragr walue of the: numbers
15, 21, 32, 35, 46, x, B 63, 72
should be greater than or equal
to 43 but less than or equal o 44
Then thee value of ¥ should be—
{A) 42 =x=51

B} 43 =y=50

(T} 42 =x <49

{0 43 =x =50

The base of a right pyramid is an
equilateral triangle of side 4 cm.
The: beight of the pyramid is half
of its glant height. s vedume s—

{A) gfi an? (B g 3 emd

(€} Fviem® (0 FV2em’

. Water Hows m a tank 153 m =

108 my at the hase, rth:luF;h ] Fipc'
whiose crpss-sechion is 2 dm by
15 drm, at the speed of 15 ke per
hour. In what time will the water
b 3 mvectre deep ?

fA) 100 hour (B 120 howr
(1 140 hour (D9 150 hewr

A tent is of the shape of a right
circular cylinder upto a height of
3 metres and then becomes a
right circular come with masi-
mum huight of 135 mistre abowe
thie groand. IF the radies of the
base isx 14 metre. the cose of
painting the inner side of the tent
at the rate of T 2 pir souare
ek je--

(A © 050 (B T 2,060
W) T2l (D) F 080
The sades of a triangle ane 50 cm,

78 o and 112 e, The smallest
altmde s—



14

a1 3

s

(Al 2hem {B] 30 em
() 40em {2 Hem
Rahim booght a gift itemn for
T 510 after getting & discount of
15%. He then =ells it 5% abowe

the marked price. The profit
earmid m this deal is—

(A} T150 (B} T 120

LA T T D 9%

The: simple interest on a sum of
ey 15 %L'h of the princigal and
the number of years is eqoal to
the: rabe per cent per annum. The

ra ke per cent per annum = rtql'ua|

i

(A) 3% (B) L

=

o B Oy 334%

1
10

cMEx+yez=l, 3tz +zx=-1,

sz =—1, them x® + 47 + 2% is—
(A} -2 (|} -1
{C) 0 1

[fF 22 4+ g2+ 22 =xy + yr 4 2x

{1« O, then the valoe of
dx+ 2y—-3z,
Ty B
{B] 1
(0} 3

{A} O
R |
i) 5

If x (.3 .

1.-'a[1:|r=4_'|f1.":' Iirq--
¥

) -%, T w ), then the

= |12

I 2
(a) 25 (B 25
4 5
€ 25 D23

. The area of the triangle formed

by the graph of ax + hy = ¢
{where g, b oare bwo positive real
mumbers) and the coordinate
axes, 15—

.}
(A :—*squnit
F .
iE.'q Limmis
el ;
205 %4 SNt

{B)
i)
)] :—:ﬁl‘i umit

A shopkeeper marks his goods at

40% above the cost price. He is

able to sell _';ith of his geods at

thiz price, and the remaining &t
407 discount. Assuming that the

-3

31,

5 ~'|'.|km[mr 1% able toosell all the
gissds he buvs, find hiz loss or
gam as % on the whole trans
o ligin—

(A) 2000 loss  (B) 234 loss
(C) 2655 maim (D) 305 main

A frudt seller bouaght 240 bananas
ab the rabe of © 48 per dosen. He

sialls :1,- of them at the rate of © 5

per banana. bl th of the Tm'naininﬁ

are found to be rotten. The price
per banana at which he has to
sell the remaining bananas ko get
& :|:lrr.|E:'I: of 25%% om his emfire
nvesshment is—

(Ahh T35 (A) ¥ &0

(C) T 5] 100 Tk

Trerey numbers are 300 and 4055
more than the third number
respectively. The first number is
5% of the sevpmd. Then v—

(A) ms% (B} 140

- 3 &
(23 103 3 {Dn a2 =
The price of cooking oil has
mcreased by 25%. The pereen-
tage of reduction that a family
should effect in the wse of cook-
:i|13 oil, = a% mpk fo indrease the
eupenditure on this account, is
(A 15% (B} 205
[ L) {00 30%

If a train runs at 30 km) br, it
reaches its destination late by 11
minute, but if it Toms at 50
km (hr, it is late by 5 minmtes
only, Find the correct firme for the
train b complate it joummey—
(A} 19 minute

(B) 20 minute

() 21 minube

(¥ 18 minuate

If x =rcosfl cos g = rops A sim

g and = = r %in A, then the valie
of x84yt 4 2 e

{a) {B} r
© & o 1

If 5 cos 8+ 12 sim i = 13, them fan
[

13 12

(A} 35 B} 33
A3 5
=3 3

35

1

e

The value of sec? 12

tan® TH”
i5=
fAY 0 (o1
iy 2 {0 3
¥

. 1ft..=||'|ﬂ-i:-:nﬁblil"vT. there the

value of gin (A-15) 15—

(B) 5

13
3

L S

(a) %2
(o1

A man from the top of & 100
metre high tower sees a car
morvingg bowards the knwer at an
angie of depression of 307, After
soamie Hmie, the nnﬁ'lr‘ aof r]r'pr-r:-;
sion bhecomes 607, The distance
tin metres) travelbed !:-_',' the rar
duarimg this time 15—

(a0 ey 22
@ M3 ) s

If the diameter of 8 sphere i2
deceeased by 2595, s curved
surface area will be decreased

by—

{A} 43-254% (B} 43-50r%

0 4375 {00} dd-254
falsyd + 2 +2m2 iy =1}, then
value of ™ + 3 + ¥ is equal to
tAh 0 (B} 1

oy 2 Dy 3

7o Ovis the circumeentre of AABC, Tf

LBAC = 85%, ABCA = 757, then
A0A0 15 equal to—

(A} T (B} &

0 a0 (D} 100°

The distance between Ehe centres
of the tweo circles with radii 4 em
and 9 im is 13 om. The length of
theer direct common tangent (-
WEET] B PemnEs of eomntact] is—
(A 13em {B} ¥153 cm
() 12em {2 16 cm

The: extemal bisecbor of £ ABC of
AART imtersects the straight line
through A ard parallel to BOC at
the poat O [F £ ABC = 50°, then
measure of SADE is—

(A} b5 (B} 55°

040 (D} 20



40,

1.

AR iz a diameter of a circle with
ormtre at O, DC is a chord of it
such that IM | | AB. If SBAC
= 207, then £ ADC is equal to—
{A) 1207 (B 1107

08 b DR (¥ 100°

The: tamgents drawn at Poand O
on the circumference of & circle
intersect ab AL IF LPAQ = &85,
then the measume of the £ APCH
15—

[A] Sn (B) 68"

(€} D} 34"
Directions—Study the follwing

tabde and answer the qur:—;l;iq_m 3245,

fone stedent plays one game onlyl

MNuimber of Students from
Various Schools Playing
Variouy Games

Schwals

Crmies L B C o] E
Cricket ES0 | 200 | 2500 | 230 | Do
Fogchall 50| 125 | 4TS | 100 | X0
Brsketball | 2000 | 95 | 245 | 200 [ 2E5
Eadminton | (00| 130 | &b | 40 | &5
Tenniz BME | IR0 | BS0 | A0 | 145
42, The difference betwesn the total

43,

45,

number of  stodents '|'.|I,.r|].-'inﬁ
Baskethall from all the schools
and the total nomber of students
Fla}'inﬁ Uricket from all #he
srhnnolz ig-

(A] X (B A%

(] 4 (LH 26

Thee purnber of students playing
Footbrall feom School O is 5 per
cent of the total mumber of
students playimg Football from
all the schools 1 equali—

7 i
(Al ['i.'-g- (B ]‘J‘E

() 18 {0 11:-95

Which school has the maximum
number of players ?

(A) A (B) B

() © D} E

The numiber of studenits P|.El:|.'i-11ﬂ
Radminmton from School E iz v5%
of the students playving Badmim-

tom from School B Then x
equals—

{A)] 4 (B 50

) 42 (I 41

CHrecHoin—The following bar
graph depicts the result for BSc
students of & college for three years,
Riead the graph and answer guestions
A5l based on s graph.

DF’.rﬂ e D Thazd Devm=rs

Il""i.llllrll] Cevaen E Farilsscl

20 4

Lt

Lid:

(I

L

LK

al
i}
T
il

194 1963 154

4, The number of shadents pa-mr-d
im 3rd division in 1984 was-
1Al 163 (B) 75
() 70 (LY 6%

47, The percentage of studernits failed
im 1984 was—

1. 3
(A] 3% (B 17N
{C) 1‘.?.,,., L]

4%, The aggregate pass percentage
during the thre years was—

i, 55
i A Bz (B ﬁ_m o

AR .
() Bz WDF Ay

49, The prrcEnitae of students pas
srd in Tst division in 1982 was

(A) 20 (B) 345
() 14%3., () 1|ﬁ:=~;

1. The percentage of students pas-
sl im 1962 was—

{A) BSIE (E) '-’-:lh‘
5 e
(] I"-iﬁ_-.- D} 82 =% I? ¥

For V. Il Candidates Only

42, The income from a bus n eETY
trip is 1) TF thie bus fare
TSRS i'r!, A% and the vomber
of P sECIEETS decreasers 1:-:,.' M
them the income in cach trip will
T

{4 Tes0 (B U T2
) Va0 D UL

43, A boat ravelled from A o B and
back tx A from B in 5 hours, [F
the speed of the boat in il

wates and spesed of the stream be
75 ki (b and 15 ke Chre respec-

5.

47.

45,

44,

Hwely, then the distance betwesn
A and B is—

(Al 6 km (B 9 km
(C) 18 km (D 12 km
{257 = w (25)"0

The walue of :
ST ks ma

f5—
[A] 25 B 30
i) 50 (D 45

5184 has to be divided by » to
make it a perfect cube mumber
greater than 1. The  largest

possible valoe of o is—
{A] BE (B Al
C] 4 (DX} 243

A and B enter into a partmership
with :':up'ital asd 5 At the end of
4 months, A withdraws. If the
shate of armual profits be i the
ratic 2 0 10, then money of B
remaimed invested for—

(A) 10 month

(Bl B month

1) 7 momth

D B momth

[f 51 19" = g sin 717 = &, then the
vitloe of i + F is—

(A} D (B} 1

{1 2 (£ 3

The difference between simple
imberest ansd ;1rr|1'|1|:|:|11|.‘| imkerest,
at the same rate, for © 5000 for 2
years ks § 72 The rate of imterest
pET Nk EEE AT 15—

[A) 10 (B 12

i} & (&

Ravi bought a TV with XEG
discount on labelled price. Had
b borght it weith 255 discount
ke would have saved T 500, Al
what price did be buy the TV ?
(&) 75, 000 (B} T 10000

() T12003 (D) T 164000
The length of a hall is 23 m and
the width is 16 m. The sum of
areas of the floor and the roof is
rqll:ll tix the sum of Hee arcas of
four walls, The volume of the
hall is apprrocdrmately —

(A) 28404 md

(B] 25482 m®

(C) 44 m®

(D) X453 m®



	1.pdf
	2.pdf
	3.pdf

